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QUESTION 1

The 8FEL1GE board of AR routers is commonly used for access of small and medium enterprises or enterprise branches
through Ethernet, implements line rate switching at Layer 2 and Layer 3 and device management, supports WSIC cards,
provides eight FE interfaces and one GE interface, and can connect to office terminals, PCs, IP phones, and switches.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 2

If IP phone linkage is configured by creating a UC account and selecting a number allocation policy to link, a new SIP
number is created simultaneously and bound to the UC number.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3

In the remote disaster recovery (DR) and local regeneration scenario (without considering registration update), assume
that user A is a SIP user in the central site and user B is a PSTN user outside a branch site, User A calls user B through
the gateway in the branch site. User A and user B are engaged in an ongoing call. At this time, the active device breaks
down due to the central site power outage. Then, the standby device takes over services from the active device. In this
scenario, which of the following statements is CORRECT?

A. The call between user A and user B will be interrupted.

B. The call between user A and user B will be interrupted immediately upon power outage and then resumed.

C. The call between user A and user B is not affected.

D. User A can initiate new services, for example, placing a call on hold.

Correct Answer: C

QUESTION 4
During eSpace Desktop login, which is used for SIP user and password authentication?
A. BMU

B. eServer
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C. MAA
D. Unified gateway

Correct Answer: D

QUESTION 5

The eSpace UC solution provides end-to-end security networking schemes, including (). (Multiple Choice)
A. Signaling encryption

B. Open interfaces

C. Media stream encryption

D. Distributed networking in peer-to-peer mode

Correct Answer: AC
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